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Subtracting scientific notation with negative exponents

If you see this message, it means that we have problems loading external resources on our website. If you're behind a web filter, make sure that the *.kastatic.org and *.kasandbox.org domains are unlocked. To add or subtract two numbers in a scientific notation: Step 1: 2 in numbers, adjust 10 to have the same index.
(Tip: It's easier to adjust a smaller index to be equal to the largest index.) Step 2: Add or take away the numbers. Step 3: Give an answer in scientific notation. Example: Rate 2 × 103 + 3.6 × 104 for your answer in scientific notation. Solution: Example: Rate 7 × 105 – 5.2 × 104 for your response in a scientific note.
Solution: Add and subtract numbers in scientific notation with the same or different exponent and negative exponent This video explains how to add and subtract the figures written in scientific notation, whether they are the same exponent. Examples: (3,769 × 105) + (4.21 × 105) (8.14 × 10-2) - (2.01 × 10-2) (7.58 × 105)
+ (2.871 × × <3> <7> 106) (29785 × 10-8) - (5.72 × 10-10) (4.86 × 103) - (4.72 × 103) Show Video Lesson Why do you have to make sure Exponents Do the same? This video explains why when you add and subtract numbers in scientific notation, you have to make sure that the exponentials are the same. Example: (7.1
× 103) + (5 × 102) Show video lesson rules for scientific notation This video reviews scientific notation and shows you how to add and subtract scientific notation. Rule on a scientific note: If the exponent goes down, the decimal point goes right. If the decimal point goes right, the exponent goes down. If the exponent goes
up, the decimal number goes to the left. If the decimal point goes left, the exponent goes up. Show scientific notation of video lessons - addition and subtraction rules This video explains how to add and subtract them from scientific notation without using a calculator. 10 powers must be the same in both terms in order to
add up/subtract. When the power of 10 games, just add or subtract. Adjust the response to scientific notation. Show a video lesson Learn how to add and subtract scientific notation. Add and subtract numbers from different bases by overwriting their exponential to make them the same. Example: (3.5 × 104) + (3.1 × 105)
Show a video lesson Try the free Mathway calculator and the troubleshooter below to practice a variety of math topics. Try the following examples or type your problem and check your response with detailed explanations. We welcome your feedback, comments and questions on this site or page. Please submit your
feedback or questions via our feedback page. Basic RulesNegativeEng. Not'nFractional Using Exponents, we can reformat the numbers. This can be useful, much more as it is useful (that is, it is easier) to write twelve trillion instead of 12 million, instead of 12 million Meters. For a very large or very small number it is
sometimes easier to use scientific notation (so-called, because scientists often deal with a very large and very small number). The format for writing a number in a scientific note is fairly simple: (the first digit of the number), followed by (decimal) and then (all other digits of the number), times (10 to the appropriate power).
Conversion is pretty simple. It's not a very large number, but it will work well, for example. To convert it to scientific note, I first converted 124 to 1.24. It's not the same number they gave me, but (1.24) (100) = 124 is, and 100 = 102. Then, in scientific note 124, it is written as 1.24 × 102. In fact, converting between regular
notation and scientific notation is even easier than I just showed, because all you really have to do is count decimal places. To convert the previous example, I would count the number of decimal places I moved to decimal. Since I'd move it into two places, then I'd be dealing with a power of 2 for 10. But would it be
positive or negative power 2? Because the original number (124) was higher than the converted form (1.24), the power must be positive. Since the exponent to 10 is positive, I know that they are looking for a large number, so I will have to move the decimal point to the right to make the figure higher. Since the exponent
of 10 is 12, I will need to move the decimal point twelve places more. First, I'll move the decimal point twelve places over. I make little loops when I count off the site to follow: Then I fill the loops with zeros: In other words, the number is 3,600 million , or 3.6 trillion Idiomatic note: trillions are a thousand billion - that is, a
thousand thousand million - American parlance; The British-English term for American billions would be milliard, so the American trillion (above) would be british thousand milliard. In scientific note, the part of the number (as opposed to the 10-by-copper part) will be 4.36. So I count how many places the decimal point is
moving to get from where it is now, where it is: Then the power of 10 is -11: eleven, because that's how many places the decimal point has to move, and negative because I'm dealing with a small number. So, in the scientific note, the number is written as 4.36 × 10-11 Because the exponent on 10 is negative, I am looking
for a small number. Since the exponent is seven, I will be moving the decimal point to seven places. Since I need to move the point to get a small number, I'll be moving it to the left. The answer is 0.000 000 42 This is a small number, so the exponent to 10 will be negative. The first interesting digit in this room is 5, so
there will have to go from decimal place. To get from where it is right after 5pm, a decimal point will need to move nine places to the right. (Count 'em out if you're not sure!) Then the power of 10 will be negative 9, and the answer is 5.78 × 10-9 That's a large number, so the exponent of 10 will be positive. The first
interesting digit in this room is the leading 9, so there will have to go decimal. To get from where it is immediately after 9, you'll need to move the decimal point to the left. Then the power of 10 will be positive 7, and the answer is 9.3 ×107 Remember: However many places you move decimal, it has a power of 10. If you
have a small number in decimal form (less than 1, absolute value), then the scientific notation capacity is negative; if it is a large decimal place (greater than 1, absolute value), then the exponent is positive for scientific notation. Warning: Negative for exponent and negative for a number means two very different things!
For example: –0.00036 = –3.6 × 10–4 0.00036 = 3.6 × 10–4 36 000 = 3.6 × 104 –36,000 = –3.6 × 104 Not to be 3.6! You can use the Mathway widget below to practice converting a regular number to a scientific notation. Try using what you entered, or type your task. Then click the paper airplane button to compare your
response to Mathway's. (Do skip the widget and continue with the lesson.) Please accept your preferences cookies to enable this widget. (Click here to direct mathway site if you want to view your software or get additional info.) You may be asked to multiply and divide the figures into scientific notations. I've never really
seen the point because, in real life, you deal with these messy numbers using a calculator, but here's the process where you have to show your work: Since I'm multiplying, I can move things around and simplify some of these things easily: (2.6 × 105) (9.2 × × 9.2 × 9.2 × 9.2 × 9 ×.2 × 9.2 × × <0> 9.2 × 9.2 × 9.2 × 9.2 ×
9.2 × 9.2 × 9.2 × 9.2 &lt;1&gt; &lt;4&gt; 10–13) = (2.6) (2.6) (9.2) (10-13) = (2.6) (9.2) (105) (10-13) = (2.6) (9.2) ( 105-13) = (2,6) (9,2) (10-8) Good; I've simplified the powers-of-ten part. Now I have to deal with 2.6 times 9.2, remembering to convert my product to scientific notation: 2.6 × 9.2 = 23.92 = 2,392 × 10 = 2,392 ×
101 Putting it all together, I have: (2.6 × 105) (9.2 × 10–13) = (2.6) (9.2) (10–8) = (2,392 × 101) (10-8) = (2392) (101) (10-8) 10 8) = (2,392) (101-8) = 2,392 × 10-7 Tad (2.6 × 105) (9.2 × 10-13) = 2,392 × 10-7 The division of the scientific notation figures works in the same way. First, I'll deal with the power-of-ten part:
(1,247 × 10-3) ÷ (2.9 × 10-2) = (1,247 ÷ 2.9) (10-3 ÷ 10-2) = (1,247 ÷2.9) (10-3 × 102) = (1,247 ÷ 2.9) (10–1) Now I will work with the division: 1,247 ÷ 2,9 = 0,43 = 4,3 × 10–1 Alliting it, Man: (1,247 × 10-3) ÷ (2.9 10-2= (1,247 ÷ 2.9) (10-1) = (4.3 × 10-1) (10-1) = (4.3) (10-1) (10-1) = (4.3) ( 10–2) = 4.3 × 10–2 The answer
is: (1,247 × 10-3) ÷ (2.9 × 10-2) = 4.3 × 10–2 If you have to do such problems, remember, that you can always check your answers in the calculator. For example, if you enter 1,247 EE -3/2.9 EE-2 on, my calculator returns 0.043, which is equal to 4.3 × 10-2 in scientific notation. If you have to do a lot of these problems,
you may be useful to set up your calculator to display all the values in scientific notation. Refer to the owner's manual for instructions. URL: Page 1Page 2Page 4Page 5 The number written in scientific notation is written as a number product between 1 and 10 and a number that has 10 power. This means that it is written



as a quantity with a factor between 1 and 10 and with a base of 10. Addition and subtraction One of the characteristics of a quantity with exponents is that exponential numbers can only be added and subtracted if they have the same base and exponent. Since all scientific notation numbers have the same base (10), we
only have to worry about exponentials. To add or subtract them, two scientific notation numbers must be manipulated so that their bases have the same exponent - this will ensure that the corresponding digits in their coefficients are the same place value. Multiplying a number by another number with the same base is
equivalent to a factor multiplication and adding its exponential. Therefore, if we want to add two quantities written in the scientific record, the exponential of which does not coincide, we can simply write one of the 10 mandates as the result of two smaller 10 mandates, one of which corresponds to the other term.
Alternately, if we want to keep the exponent term with a higher capacity of 10, we can simultaneously multiply and divide another term by a power of 10 by applying the rule multiplication exponent in one case and dividing the coefficient in the other. This is the procedure that we set out below. When the numbers have the
same base and exponential, we can add or subtract their coefficients. Here are the steps to add or subtract numbers in scientific notation: Determine the number by which to increase the smallest exponent, so it is equal to a larger exponent. Increase the smaller exponent with that number, and move the number decimal
point to the left with the same number of places. (i.e. divided by an appropriate capacity of 10.) Add up or subtract new factors. If the answer is not scientifically graded (i.e. if the coefficient is not between 1 and 10), convert it to scientific notation. The response must include a factor, a base, and an exponent. Exponent.
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